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gnuplot 0000000000000 OOOOO
0100

gnuplot> set xlabel ’time’

gnuplot> set ylabel ’position’

gnuplot> set key bottom right

gnuplot> plot [0:]sin(x) title ’Simple harmonic motion’ ,\
exp(-x/5)*1/sqrt(24./25.)*sin(sqrt(24./25.)*x) title ’Under-damping’,\
x*exp(-x) title ’Critical damping’,\

exp (-2*x) /sqrt (3)*sinh(sqrt(3)*x) title ’0Over-damping’

gnuplot> set term postscript eps color 18

gnuplot> set output ’damping.eps’

gnuplot> replot

0200

gnuplot> f(x,b)=1./sqrt((1.-x**2)**2+(2.*b*x)**2)

gnuplot> set xlabel ’Angular frequency’

gnuplot> set ylabel ’Amplitude’

gnuplot> plot [0:2][0:3] f(x,0) title ’0’, £(x,0.2) title ’0.27°,\
£(x,0.5) title ’0.5°,f(x,1) title ’1’,f(x,2) title ’2’

gnuplot> set term postscript eps color 18

gnuplot> set output ’forced_oscillation.eps’

gnuplot> replot



